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Question No : 1

What is the connection type for communication between the SAP LT Replication Server
and the non-SAP source system?

A. TRFC

B. Web service
C. QRFC

D. Database

Answer: D

Question No : 2

Which user must have SELECT privilege with the grant option on the data schema?

A. <SID>ADM
B. SYSTEM

C. _SYS BIC
D. SYS REPO

Answer: D

Question No : 3

What is the purpose of the save point process in SAP HANA?

A. Save logs to persistent storage when a transaction is committed.

B. Free up memory by saving less frequently used data to persistent storage.
C. Save changed data and logs to persistent storage on a regular basis.

D. Save changed data to persistent storage when a transaction is committed.

Answer: C

Question No : 4

Which of the following are recovery types in SAP HANA database? (Choose two)
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A. Recovery with incremental backup
B. Recovery until cancel
C. Full recovery
D. Point in time recovery

Answer: C,D

Question No : 5

Which of the following must be running to view SAP HANA Diagnosis Files if the SAP
HANA database is offline?

A. sapstartsrv
B. SMD Agent
C. r3trans

D. disp+work

Answer: A

Question No : 6

Which actions to you need to perform to configure SAP HANA single sign-on?

A. Generate and import X.509 certificate
B. Generate and import PSE key

C. Generate and import Kerberos keytab
D. Generate and import SSH rsa key

Answer: C

Question No : 7

What information is presented when you check the license key?

A. SAP HANA support package number
B. SAP HANA edition type
C. SAP HANA licensed memory amount
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D. SAP HANA build number

Answer: C

Question No : 8

Which of the following Kerberos implementations is supported for single sign-on in SAP
HANA? (Choose two)

A. Red Hat Linux version 4 and later Kerberos implementation

B. "Advanced Encryption Standard (AES) Encryption for Kerberos 5" on HP-UX
C. MIT's Kerberos Network Authentication Protocol

D. Windows Active Directory Domain Kerberos implementation

Answer: C,D

Question No : 9

What happens when you add a standby host to an existing SAP HANA system? (Choose
two)

A. The standby host takes over one of the active index servers.
B. The standby host registers with the index server.

C. The standby host starts an index server and waits.

D. The standby host registers with the master name server.

Answer: C,D

Question No : 10

SAP Support needs to access a customer's SAP HANA studio remotely. Which entry must
the client maintain in SAP Service Marketplace?

A. Preprocessor server
B. Statistics server

C. Name server

D. Master index server
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Answer: D

Question No : 11

Which of the following is most relevant for CPU sizing of a SAP HANA appliance?

A. The amount of disk storage

B. The SAP HANA hardware platform

C. The number of concurrent users logged onto SAP HANA

D. The number of users actively running analytics in SAP HANA

Answer: D

Question No : 12

Where do you check log and trace files in SAP HANA studio?

A. Administration Editor
Performance tab
Diagnosis Files tab

B. Modeler

Diagnosis Files tab

C. Administration Editor
System Information tab
D. Administration Editor
Diagnosis Files tab

Answer: D

Question No : 13

Which of the following requires a dedicated network interface to SAP HANA?

A. SAP HANA studio

B. SAP LT

C. Backup destination

D. SAP BusinessObijects Business Intelligence platform
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